3.1 Integration by Parts Cont.

Monday, October 3, 2022

Objectives: 1. Continue practicing Integration by parts 2. Definite integrals using Integration by parts Integration by parts (IBP) Let u=f(x) and v=g(x) be differentiable functions. then $\int u dv = uv - \int v du$. Examples : 1. $\int x^2 e^{\chi} d\chi \longrightarrow IBP$ twice $\int u dv = uv - \int v du$ 1st. Let $u = x^2$ and $dv = e^x dx$ du=dxdx v= fexdx $\int x^2 c^* dx = x^2 e^{x} - \int e^{x} l x dx$ $v = e^{x}$ $\int w dz = 2x \quad \text{and} \quad dz = e^{x} dx$ $dw = 2dx \quad z = \int e^{x} dx$ z = ex $\int w dz = wz - \int z dw$ $\int x^2 e^{x} dx = x^2 e^{x} - \left(2xe^{x} - \int e^{x} 2dx\right)$ $= x^2 e^{x} - \partial x e^{x} + \partial e^{x} + C$ $= e^{x}(x^{2}-2x+2)$ 2. $\int x \sin(x) \cos(x) dx$ $V = \perp \sin^2(x)$ Judi = un - Judu , use trig identity $(09(2x) = 1 - 29 m^{2}(y)$ $\int x \sin(x) \cos(x) dx = x (\perp \sin^2(x)) - (\perp \sin^2(x) dx$ $\sin^{2}(x) = |(1 - \omega_{y}(7x))|$

$$\int u\partial v = uv - \int v\partial u$$

$$\int x \sin(u)\partial u \sin dx = x \left(\frac{1}{2}\sin^{2}(x)\right) - \int \frac{1}{2}\sin^{2}(x) dx$$

$$= \frac{x}{2}\sin^{2}(x) - \frac{1}{3}\int \frac{1}{2}(-\cos(2x)) dx$$

$$= \frac{x}{2}\sin^{2}(x) - \frac{1}{3}\int \frac{1}{2}(-\cos(2x)) dx$$

$$= \frac{x}{2}\sin^{2}(x) - \frac{1}{4}\int (1-\cos(2x)) dx$$

$$= \frac{x}{2}\sin^{2}x - \frac{1}{4}\left(x - \frac{\sin(2x)}{2}\right) + C$$

$$= \frac{x}{2}\sin^{2}x - \frac{1}{4}\left(x - \frac{\sin(2x)}{2}\right) + C$$

$$= \frac{x}{2}\sin^{2}x - \frac{x}{4} + \frac{1}{2}\sin(2x) + C$$

$$= \frac{x}{2}\sin^{2}x - \frac{x}{4} + \frac{1}{2}\sin(2x) + C$$

$$= \frac{x}{2}\sin^{2}x - \frac{1}{4}\left(x - \frac{\cos(2x)}{2}\right)$$

$$\int e^{x}\cos(4x) dx = -3587 \text{ brice and } e^{1iH(x)} \frac{1}{2}e^{2x}dx$$

$$\int u^{4}(x - \sin(4x)) \frac{1}{2}e^{2x}dx$$

$$\int \frac{1}{2}e^{2}(x - \sin(4x)) \frac{1}{2}e^{2x}dx$$

$$\int \frac{1}{2}e^{2}(x - \sin(4x)) \frac{1}{2}e$$

Example:
4.
$$\int_{0}^{1} tzu^{-1}(x) dx$$

$$let u = tzu^{-1}(x) zud dv = dx$$

$$du = \frac{1}{1+t^{2}} dx \qquad v = \int dx$$

$$\int u dv = uv - \int v du \qquad v = x$$

$$\int u dv = uv - \int v du \qquad v = x$$

$$\int u dv = uv - \int v du \qquad v = x$$

$$\int u dv = uv - \int v du \qquad v = x$$

$$\int u dv = uv - \int v du \qquad v = x z dx$$

$$= x tzu^{-1}(x) dx = tzu^{-1}(x) x \Big|_{0}^{1} - \int_{0}^{1} x \frac{1}{1+t^{2}} dx \qquad v = z dx$$

$$= x tzu^{-1}(x) \Big|_{0}^{1} - \frac{1}{2} \ln (1x^{2}+11) \Big|_{0}^{1}$$

$$= (zu^{-1}(1) - 0(tzu^{-1}(0)) - (\frac{1}{2} \ln(2) - \frac{1}{2} \ln(1))$$

$$= \frac{T}{4} - \frac{1}{2} \ln(12)$$

$$\frac{M(u) - Activety}{4}$$
Evolute the fillowing infloweds using IBP.

$$z \cdot \int (\frac{1m(x)}{4})^{2} dx \qquad -y \quad u = (in(x))^{2} zud dv = \frac{1}{2} \frac{1}{2} dx$$

$$v \cdot \int_{0}^{0} (z + \pi x) e^{\frac{\pi}{2}} dx \qquad -y \quad u = 2 \frac{1}{2} \frac{\pi}{2} zud dv = e^{\frac{\pi}{2}} \frac{1}{2} dx$$

$$dx = \frac{1}{2} \frac$$